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The question paper is divided into three Sections
A, B and C.

Section-A contains Eight Very Short Answer Type
Questions. Examinees have to attempt all
questions. Each question is of 2 marks and
maximum word limit is 30 words.

Section-B contains 8 Short Answer Type
Questions. Examinees will have to answer any four
questions. Each question is of 8 marks. Examinees
have to delimit each answer in maximum
200 words.

Section-C contains 4 Long Answer Type
Questions. Examinees will have to answer any two
questions. Each question is of 16 marks.
Examinees have to delimit each answer in

maximum 500 words.
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Section—-A 8%x2=16

(Very Short Answer Type Questions)

gug—AH
(atf o7 S T
1. (i) Solve :
(A4x4-3+2)+25
& B :
4x4-3+2)+25
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(ii)) Find the value of :
HE | hHINT
(32)1/5
(i11) If a bus travelled 90 km in 2 hours, then find
speed of bus.
T wue H uw 99 90 fEH w7 HA T
AT 99 FHT A F Y ?
(iv) Find the L.C.M. of 8, 12 and 16.

8, 12 a= 16 &1 @™ "AMads® (L.C.M.) 91
hITeTC |

(v) Change % and % with common

denominator.

%aﬁigaﬁwawmﬁiﬁqﬁaﬁh

AT |
(vi) Define ZC. If AABC, ZB = 85° and ZA
= 45°.
afs AABC, £B = 85° @1 LA = 45° &,
/CHFTE ?
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(vii) If 15 person complete a wall in 8 days, then
in how much time 60 people complete this

wall ?

afe 15 =afe Tk SR w8 feT | sAW ®,
60 = SH <far & fhad fgg & s ?

(viil) Write the definition of Dispersion.
aqfepeor st qRymen fafem |
Section-B 4x8=32

(Short Answer Type Questions)
gug—d
(g I q99)

. Explain the following definitions of mathematics :

(1) Mathematics : Science of magnitude and

numbers

(i) Mathematics : Science of development of

subjects
T T 7 qRweIe w1 wEeEy
() o : i SR Temst w1 famm
(i) Tfora : fafa= st &) wifa =+ fafa
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3. A seller gets 28% loss on selling a table in ¥ 810.

If he sells it in ¥ 900, then find his gain/loss

percentage.

T OR 4 TH foa T 810 H s= a0 w4
T 1 28% =1 g8 | Al =g forer 3 900 H S=rn
IHRT Y ALY B FIA9M A1 HIFSTC |

. If 4 teachers working 4 hours daily can evaluate
800 answer sheets in 12 days, then in how many
days 2 teachers can evaluate 600 answer sheets if

they working 8 hours daily ?

afe 4 whees 4 =5 widafed wM w12 f&A i § 800
SW-YRAHIT Si" Fhd © o 2 Wieshi g 8 ¥ wfafew
FHM HFH 600 W YRashd foha~ foi | St S 2

. Write a short note on merits and demerits of

Median.
mfezRT & O A I W GiEw oo witg |

. Explain  parallel lines, alternative angle,

corresponding angle and triangle.

THMRR @ME, THGR DI, T ho 3R s =
HHHATRT |
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7. Solve the following system of equation :

x—-y=10;x-2y =7
fr=fafea 9 M & & Sifee .

x—y=10;x-2y =17

. Mohan give ¥ 24,000 to Ram on interest rate

1
12% per year. After 25 year Ram return ¥ 12,000

and a motorcycle to Mohan. Find the price of
motorcycle.

e 7 T & T 24,000, 12% afieh SR S Y

1
W Y YR fa=m) 25 T8 o T A T 12,000 94T TH

A} WIEfhe Tt el G| JaET 1R ARfea &t

HHa fear ot ?

. Prove that :

(1) If two sides of a triangle are equal, then their
corresponding angles are equal.

(ii)) If two angles of a triangle are equal then their
corresponding sides are equal.

fag #ifSq :

() ot fFE s =t o g9 & @ ST
A & HI0 e B § |

(i) afc fHdr BIYs &  *7 [WeR & @ SO &
YA Y YSITE SR BT ¥
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Section—-C 2x16=32
(Long Answer Type Questions)
gus—"
(& T ue)

10. Explain the nature of Mathematics.

Tfora 1 Yfa @i fae=m &ifs)
11. Find standard deviation for the following data :

o oo~ M

frafafea stmafed g & fau gam fa=em I +ifs .

0-10

10-20

20-30

40-50

2
4
5
30-40 9
6
4

50-60
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12.1f A and B can yoke a farm in 30 days and after
20 days B leave the work. If A take 20 more days
to yoke the farm completely, then find in how

many days B alone can complete this work ?

A 3R B faeer ©h ©ad &1 30 7 § & g ¥
20 fe7 ®m W & 9 B wen W@ ¥ Ay A 9
T w20 f fow o ¥ A B ower 8 R
FM w1 o 7 | X " § 2

13. Solve by graphical method :
x+y=2;x+3y=6
s fafy gro fefafed e fwm = &
HITT ¢

x+y=2;x+3y=6
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